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4-Excellent 	3-Good		2-Needs Improvement	       1-Not Present
__ Rock formation is drawn with horizontal layers.  The drawing is in color.
__ An unconformity is present and labeled correctly.
__ There are some fossils in the layers, with obvious less complex in the bottom layers and more complex in the top.
__ The oldest and youngest layers are identified.
__ The radioactive dating problem is solved correctly.
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Elaborate: Rocky View
1. Draw a rock formation with horizontal layers
(mountain, crust).
2. Add at least one non-conformity/unconformity. Label
it.
3. Add a few fossils to some of the layers. Less
complex organisms should be in older layers.
4. Label the oldest and youngest layers.
5. Color it.
6. Solve and explain how you determined the following
problem in a few complete sentences: A scientist has.
discovered a fossil that has carbon 14 atoms in it, though
only 6.24% is still radioactive. How old is it?





